Answers and Support for Closurer)Problems
What Have [ Learned.:

Note: MN = Math Note, LL = Learning Log
Need Help?  More Practice

Problem lution
__rroblen Solu Lesson 1.1.4  Problems 1-36
CL 1-142. a. 15 feet and 1-83

b. 12 boxes will fit in one stack.

— - o MN: 1.1.2 Problems 1-11,
CL1-143. P=88m, A=369sq.m 1-22,1-49, 1-84,

1-129, and 1-141

Lessons 1.2.2 Problems 1-133

- 3
CL 1-144. < | 1128 and 1-134
MN: 1.2.3

CL 1-145. _ fifths, 2 ,0.4, 40% MN: 1.1.5 Problems 1-44,
a. Two-fifths, £ b 0 1-46. and 147
b. One-sixth, L, 0.16,16.67%
c. Three-eighths, ,0.375,37.5%

CL 1-146. R Lesson 1.2.6  Problems 1-94,

+ | LL:1.238 1-106, 1-115, and
1-118
o =
-]% %,or%-

CL 1-147. a. Theoretical Lessons 1.2.1 Problems 1-39,
b. Experimemal and 1.22 and 1-75
c. Experimental MN:1.23
d. Theoretical LL:1.2.1

CLI-148. a. 515‘=4% Lessons 1.2.1 Problems 1-57,
b. 64% and 1.2.2 1-71.1-80, 1-124,
c. 8 MN: 123 and 1-125

LL: 1.2.1

CL 1-149.  Kimberly’s number is 30.

L -16,
30.3-7 = 83 esson 1.1.3  Problems 1-1

1-17, 1-18, and
1-104
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Core Connections: Cours



